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Instructions for candidates

1. Answers are to be written on separate Answer Sheet.

mÙkj fy[kus ds fy, vyx  
2. There are 90 questions in this test. All are compulsory.

bl iz'u ijh{kk esa 90 iz'u gSA lHkh vfuok;Z gSA
3. Answer of the  each question is to be indicated by blackening the serial number of the 

correct alternative with H.B. pencil. If (2) is the correct alternative then answer the 
questions as shown below.

izR;sd iz'u dk mÙkj nsus ds fy, ml iz'u ds uhps fn, x, fodYiksa esa lgh fodYi ds dzekad okyk 
o`Rr ,p- ch- iSfUly ls dkyk djsa tSls fd n'kkZ;k x;k gS] ;fn ¼2½ lgh fodYi gSA

4. For change of answer erase the earlier entry completely and then darken the new oval.

;fn vki viuk mÙkj cnyuk pkgrs gS rks igys Hkjs gq, xksys dks vPNh rjg feVk nsa fQj nwljs 
xksys dks vPNh rjg dkyk djsaA

5. There is no negative marking.

xyr mÙkj ds fy, dksbZ vad dkVs ugha tk,axsA
6. Use of calculators, log tables and  mobile phones etc. is not allowed.

dsydqysVj] ykWx Vscy o eksckbZy Qksu dk iz;ksx fu"ks/k gSA
7. Two blank pages at the end of the question paper can be used for rough work. Rough 

work can also be done anywhere on the question-paper.

iz'u i= esas nks [kkyh iUuksa dk iz;ksx jQ dk;Z ds fy, fd;k tk ldrk gSA iz'u i= esa fdlh Hkh 
txg jQ dk;Z fd;k tk ldrk gSA

8. This question-paper along with answer-sheet is to be returned to the Centre 
Superintendent .

bl iz'u i= dks rFkk mÙkj i= dks dsUnz&v/kh{kd ds ikl lkSaiuk t:jh gSA
9. All particulars have to be written with a ball point pen or ink pen.

lHkh tkudkjh L;kgh iSu@ckWy iSu ls fy[ksaA
11. Since the time alloted is limited, if you do not know the answer to any question, pass on 

to the next. Come back to the left over question at the end.

D;ksafd le; lhfer gS] vr% ;fn fdlh iz'u dk mÙkj u vk, rks vxys iz'u ij pysaA NksMs x, 
iz'uksa ds mÙkj vki vUr esa dj ldrs gSA

mÙkj&i= gSaA 
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Q.1 27  26  24  21  ?  12  6

1) 17 2) 16 3) 18 4) 19

Q.2 1, 3, 7, 15 ?

1) 31 2) 21 3) 24 4) 22

MENTAL ABILITY TEST

Questions 1 to 10

Insert the missing letter/number out of given choices:-

fuEu iz'uksa esa fjDr v{kj@la[;k fn;s x;s fodYiksa esa ls Hkfj,A

B

3

C

4

E

6

?

?
Q.3

1) F

7
2) F

6
3) G

6
4) H

9

Q.4 7, 23,  39  ?

1) 54 2) 55 3) 66 4) 52

Q.4 7, 23,  39  ?

1) 54 2) 55 3) 66 4) 52

Q.5

1) 4 2) 5 3) 3 4) 1

4

9
25

16

3
?

M.A.T. --- 1

Q.6 3,  18,  43,  78,  123,  ?

1) 169 2) 178 3) 158 4) 152



Q.7 3,  10,  101,  ?

1) 10202 2) 10201 3) 10200 4) 10204

Q.8 55296, ?  288,  36,  9

1) 3436 2) 4639 3) 3638 4) 3456

Q.9 3, 4, 10, 34, ?

1) 135 2) 130 3) 34 4) 136

Q.10

1) 2) 3) 4)

Q.11 A frog jumps  in a 19m deep well for every 3m jump the frog slips by 1m. How many 

jumps would get the frog out of the well?

,d esa<d 19 ehVj xgjs dqa, esa gSA gj 3 ehVj mNyus ij esa<d 1 ehVj fQlyrk gS] fdruh 

ckj eas<d mNys fd dq,a ls ckgj vk tk;s\

1½ 8 2½ 9 3½ 10 4½ 7

Q.12 The pages of a book are numbered from 1 to 100 manually. How many times will it be 

essential to write the number 5?

,d fdrkc esa gkFk ls 1 ls 100 rd i`"B la[;k Mkyh tkrh gS rks fdruh ckj la[;k 5 blesa 

vk;sxh\

1½ 20 2½ 19 3½ 18 4½ 9

Q.13 I am the eldest child of my parents. There is a gap of 6 years between the age of my 

brother and sister including myself. If my mother was 22 years, when I was born. What 

was her age at the time of birth of her youngest child?

eSa vius ekrk&firk dh lcls cMh+ larku gwa] esjs lfgr esjs HkkbZ&cfgu esa 6 o"kZ dk vUrjky gS 

tc eSa iSnk gqbZ ml le; esjh ek¡ 22 o"kZ dh Fkh] rks mudh mez D;k Fkh tc muds vfUre larku 

iSnk gqbZ\

1½ 32 2½ 28 3½ 16 4½ 25

M.A.T. --- 2



Q.14 A man goes 4m due North and then 3m due East. How far is he from the starting 

point?

,d vkneh 4 ehVj mÙkj fn'kk esa mlds ckn 3 ehVj iwoZ fn'kk esa tkrk gS og vius izkjfEHkd 

fcanq ls fdruh nwjh ij gS\

1) 4m 2) 5m 3) 6m 4) 3m

Q.15 If A > B, B < C and C > D then which number is the greatest ?

;fn A, B ls cM+k B, C ls cM+k rFkk C, D ls cM+k gS rks lcls cM+h la[;k dkSu lh gksxh\

1) A 2) B 3) C 4) D

Q.16 Which of the  word cannot be made from the letters of the word 'CARPENTER'?

dkSu lk 'kCn CARPENTER 'kCn ds v{kj ls ugha cu ldrk\

1) CARPET 2) PAINTER 3) REPENT 4) NECTAR

Q.17 Arrange the following words in the sequence in which they occur in the dictionary.

'kCndks"k ds Øe ds vuqlkj fuEu 'kCnksa dks fy[kksA

1) LIVER 2) LONG 3) LOAD 4) LUMINOUS         5) LETTER

1) 51234 2) 53124 3) 53142 4) 35124

Q.18 How many prime numbers are form 1-30?

1&30 rd fdruh vHkkT; la[;k,a gksaxh\

1) 9 2) 10 3) 11 4) 7

Q.19 A boy started from his home. After walking 5 Kms towards East, he turned to his right 

and walked for 8 Kms. Then he again turned to his right and walked for 10 Kms. In 

which direction was he from his house?

,d yMdk vius ?kj ls iwoZ dh vksj 5 fdyksehVj pyrk gS blds ckn og nk;ha vksj ?kwedj 8 

fdyksehVj] blds ckn fQj nk;sa ?kwedj og 10 fdyksehVj pyrk gS vc og vius ?kj ls fdl 

fn'kk esa gS\

1) West 2) South-West 3) North-West 4) North

1½ if'pe 2½ nf{k.k&if'pe 3½ mÙkj&if'pe 4½ mÙkj

M.A.T. --- 3



Q.20 In a given series find out how many times a four is preceded as well as followed by a 

six?

fuEu Js.kh esa fdruh ckj pkj vad ls igys rFkk ckn esa Hkh N% dk vad vk;k\

1] 2] 3] 2] 3] 4] 6] 4] 1] 2] 3] 6] 4] 6] 1] 2] 3] 4] 6] 2] 3] 4] 6] 1

1) 1 2) 3 3) 4 4) 2

Q. 21 to 24 

Directions: First two groups of letters in each question bear some relation with each 

other, keeping that relation in mind pick up one group from the answer-choice which 

bears same as the first two with the third group. 

funsZ'k%& fn;s x;s iz'uksa esa igys nks lewg ds 'kCnksa esa dqN lEcU/k gS mlh rjg dk lEcU/k rhljs 

'kCn ds lkFk fn;s x;s mÙkj ls pqfu;sA 

Q.21 ACE : DDF :: IKM :?

1) JNL 2) JLN 3) ILM 4) JIN

Q.22 AKR : DNU :: IUO :?.

1) LXR 2) LRX 3) JVP 4) JPV

Q.23 WRS : XST :: VTZ :?

1) WZU 2) WUZ 3) WVA 4) WUA

Q.24 BMS : ZKQ :: CZA :?

1) AWY 2) AXY 3) AXW 4) BXY

Q. 25-30 In question number 25-30 find out the odd one out. 

iz'u 25&30 esa ls vlaxr Kkr dhft,A

Q.25 1) Football 2) Hockey 3) Cricket 4) Chess

1½ QqVcky 2½ gkWdh 3½ fØdsV 4½ 'krjat

Q.26 1) Kilogram 2) Gram 3) Pound 4) Meter

1½ fdyksxzke 2½ xzke 3½ ikSaM 4½ ehVj

M.A.T. --- 4



Q.27 1) Car 2) Auto Rickshaw 3) Bus 4) Tractor

1½ dkj 2½ vkWVks&fjD'kk 3½ cl 4½ VªSDVj

Q.28 1) Plough 2) Harrow 3) Cultivator 4) Tractor

1½ gy 2½ gSjks 3½ dYVhosVj 4½ VªSDVj

Q.29 1) Square 2) Circle 3) Rectangle 4) Cuboide

1½ oxZ 2½ o`r 3½ vk;r 4½ ?kukHk

Q.30 1) Father 2) Mother 3) Sister 4) Teacher

1½ firk 2½ ekrk 3½ cgu 4½ v/;kid

Q.30 Directions:- Two words on the left hand side (Sign:) bear some relation. The same 

relation exists between the other two words, bearing that relation in mind pick up from 

answer choices a word for the blank space (?).

funsZ'k% cka;h rjQ nks 'kCn fn;s x;s gS ftuesa vkil esa dqN lEcU/k gS ogh lEcU/k vxys nks 'kCnksa 

esa gS] fn;s x;s fodYi ls [kkyh txg ¼\½ esa mÙkj NkafV;sA

Q.31 Army   :  Soldier  ::  Galaxy :?

lsuk   %  lSfud  %%  vkdk'kxaxk  %\

1) Stars 2) Planet 3) Universe 4) Satellite

1½ rkjs 2½ xzg 3½ czák.M 4½ mixzg

Q.32 Well  :  Depth  ::   Word  :?

dq¡vk % xgjkbZ  %%  'kCn   %\

1) Book 2) Letter 3) Meaning 4) Alphabet

1½ iqLrd 2½ i= 3½ vFkZ 4½ o.kZekyk

Q.33 Vendor   :  Buyer        ::   Advocate :?

cspusokyk % [kjhnusokyk %%  odhy    %\

1) Court 2) Chamber 3) Client 4) Law

1½ vnkyr 2½ d{k 3½ xzkgd 4½ dkuwu
M.A.T. --- 5



Q.34 Husk  :  Rice   ::   Shell    :?

Hkwlk  % pkoy  %%  vkoj.k %\
1) Cockroach 2) Bean 3) Egg 4) Mango

1½ dkWdjksp 2½ chu 3½ vaMk 4½ vke

Q.35 Hot    :   Cold  ::   Dark  :?

xeZ   %  B.Mk %%  va/ksjk %\
1) Light 2) Sweet 3) Brilliant 4) Constant

1½ izdk'k 2½ ehBk 3½ cqf)eku 4½ fLFkj

Q. 36 to 40    Study the following figure carefully and answer Q 36-40. The triangle represents 

professors, the circle represents artists and rectangle represents students. The number 

representing the number of persons. 

uhps nh xbZ vkd`fr;ksa dks /;ku ls i<+ks ,oa iz'u 36%40 rd ds mÙkj nhft,A vkd`fr esa f=Hkqt 

izk/;kid dks n'kkZrk gS] o`r dykdkjksa dks ,oa vk;r Nk=ksa dks n'kkZrk gS] [kkyh txg esa la[;k dks 

n'kkZrk gSA

M.A.T. --- 6

Q.36 How many professor are both artists & students?

fdrus iz/;kid dykdkj ,oa Nk= gSa\

1½ 2 2½ 3 3½ 4 4½ 11

Q.37 How many students are artists?

fdrus Nk= dykdkj gSa \

1½ 20 2½ 30 3½ 25 4½ 8

Q.38 How many students are neither artists nor professors?

fdrus Nk= u rks dykdkj ,oa u iz/;kid gSa \

1½ 10 2½ 15 3½ 20 4½ 22

25

22 3

4

8

17



Q.39 How many professors are neither artists nor students?

fdrus v/;kid u rks dykdkj vkSj u Nk= gSa\

1½ 10 2½ 15 3½ 17 4½ 21

Q.40 How many artists are neither students nor professor?

fdrus dykdkj u rks Nk= ,oa u izk/;kid gSa\

1½ 10 2½ 15 3½ 20 4½ 25

Q. 41 to 44 (Answer 41-44) 

Ram walks 2 km towards north and turns to his right and walks 4km more. Then he 

turns to his right and walks 4km more. Again he turns to his right and walks 4 km and 

turns again to his right and walk another 4km. Here he meets Radha coming from the 

opposite direction they both stop there.

uhps fn, xa|k'k dks i<+dj iz'u 41&44 ds mÙkj nhft,A 

jke 2 fdyksehVj mÙkj fn'kk esa pyrk gS] fQj vius nk;h rjQ eqM+dj 4 fd-eh- vkSj pyrk gS] 

fQj nk;ha rjQ eqM+dj 4 fd-eh- vkSj pyrk gS] fQj nk;ha rjQ eqMdj 4 fd-eh- pyrk gS] tgka 

og vius ls foijhr fn'kk esa vk jgh jk/kk ls feyrk gS vkSj og nksuksa :drs gSaA

Q.41 After taking the first turn, In what direction Ram was going?

jke igyh ckj tc eqM+rk gS rks dkSu lh fn'kk esa tk jgk gksrk gS\
1) South 2) North 3) West 4) East

1½ nf{k.k 2½ mÙkj 3½ if'pe 4½ iwoZ

Q.42 From which direction Radha was coming?

jk/kk fdl fn'kk ls vk jgh Fkh\
1) South 2) North 3) South-East 4) East

1½ nf{k.k 2½ mÙkj 3½ nf{k.k&iwoZ 4½ iwoZ

Q.43 If starting point is marked as A and finish point is marked as B. What will be the 

distance between these points?

;fn 'kq:vkr A fcUnq gS rFkk vk[kjh fcUnq B rks nksuksa ds chp dh nwjh fdruh gS\
1) 10 km 2) 2 km 3) 6 km 4) 4 km

1½ 10 fd-eh- 2½ 2 fd-eh- 3½ 6 fd-eh- 4½ 4 fd-eh-

M.A.T. --- 7



Q.44 From B Point in which direction Ram turns?

B fcUnq ls jke fdl fn'kk esa ?kwesxk\

1) West 2) North 3) East 4) South

1½ if'pe 2½ mÙkj 3½ iwoZ 4½ nf{k.k

Q. 45-49 Study the following information and answer Q-45-49;

There are two married couples in the family of six people (U,V,W,X,Y,Z) 'W' is wife of V 

and mother of Z, X is grandmother of U and mother of V,Z is grand daughter of Y.

fuEu x|ka'k dks i<+dj iz'u 45&49 ds mÙkj nhft,A

6 lnL;ksa (U,V,W,X,Y,Z) ds ifjokj esa nks fookfgr tksMs+ gSa] blesa W,V dh iRuh rFkk Z dh eka 

gS] X,U dh nknh rFkk V dh eka gS rFkk Z,Y dh ikS=h gSA

Q.45 What is W to U?

W,U  dh D;k yxrh gS\

1) Mother 2) Grand Mother 3) Daughter 4) Father

1½ ekrk 2½ nknh 3½ iq=h 4½ firk

Q.46 How many male members are there in the family?

ifjokj esa fdrus iq:"k lnL; gS\

1)  2 2)  3 3)  4 4) None

1½ 2 2½ 3 3½ 4 4½ dksbZ ugha

Q.47 Who among the following is one of the couples ?

blesa fookfgr tksM+k dkSu lk gS\

1)  W-X 2)  Y-V 3)  X-Y 4) Y-W

Q.48 What is V to Y?

V, Y dk D;k yxrk gS\

1)  Son 2) Daughter 3) Sister 4) Mother

1½ iq= 2½ iq=h 3½ cfgu 4½ ekrk

M.A.T. --- 8



Q.49 What is Y to Z?

Y dh Z D;k yxrk@yxrh gS\

1)  Grand Father 2) Grand Mother 3) Father 4) Daughter

1½ nknk 2½ nknh 3½ firk 4½ iq=h

Q.50 The angle between the minute hand and the hour hand of a clock when the time is 

8.30 is.

?kaVs dh lqbZ ,oa feuV dh lqbZ ds chp 8-30 ij fdruk dks.k cusxk\
0 0 0 01)  80 2) 75 3) 60 4) 105

Q.51 At what angle the hands of a clock are inclined at 15 minutes past 5.

5-15 ij nksuksa lqbZ;ksa ¼?kaVs ,oa feuV½ ds chp fdruk dks.k gksxk\
0 0 0 01)  67 ½ 2) 70 ½ 3) 65 ½ 4) 48 ½

Q. 52 to 59 study the graph carefully and answer the question 52-59.

M.A.T. --- 9

izfr'kr xkao

ftuesa fctyh

ugha gS @
% of villages
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fn;s x;s xzkQ dks /;ku iwoZd i<+dj iz'u 52&59 ds mÙkj nhft,A

States ¼jkT;½



Q.52 If Govt. desires to give aid for speedy electrification, starting from the sates with least 

electrification which state will get 2nd rank?

;fn ljdkj rsth ls fo|qrhdj.k djus dh bPNk ls ml jkT; ls dke 'kq: djuk pkgrh gS tgka 

ij lcls de fo|qrhdj.k gqvk gks rks dkSu ls jkT; dk f}rh; LFkku gksxk\

1)  D 2) B 3) F 4) E

Q.53 Which state has twice the percentage of villages electrified in comparison to state D?

fdl jkT; dh rqyuk esa fo|qrhdj.k D jkT; dh rqyuk esa 2 xq.kk izfr'kr vf/kd gqvk gSa\

1)  A 2) B 3) C 4) F

Q.54 Which state has maximum percentage of electrified villages?

fdl jkT; esa lcls vf/kd fo|qrhdj.k xkaoks dk izfr'kr gS\

1)  A 2) C 3) E 4) F

Q.55 How many states have at least 60% or more electrified villages?

fdrus jkT;ksa esa de ls de 60 izfr'kr vkSj mlls vf/kd xkaoksa dk fo|qrhdj.k gqvk gS\

1)  4 2) 3 3) 2 4) 1

Q.56 In case of state B, what percent of villages are electrified?

B jkT; esa fdrus izfr'kr xkao fo|qrhd`r gS\

1)  40 2) 60 3) 55 4) 50

Q.57 Which state is least electrified?

dkSu lk jkT; lcls de fo|qrhd`r gaS\

1)  A 2) B 3) C 4) D

Q.58 Among A & C which state  is more electrified?

A vkSj C esa dkSu lk jkT; vf/kd fo|qrhd`r gS\

1)  C 2) A 3) Both A & C 4) None

1½ C 2½ A 3½ nksuksa A vkSj C 4½ dksbZ ugha

M.A.T. ---10



Q.59 In Which state expenditure for electrification is more?

fdl jkT; esa fo|qrhdj.k dk [kpkZ lcls vf/kd gksxk\

1)  D 2) B 3) E 4) A

Q.60-64 The circle graph, drawn shows the spending of a country on various sports during a 

particular year, study the graph and answer the questions that follow. 

fn;s x;s o`r xzkQ esa ns'k ds [ksyksa ij [kpsZ ds fooj.k dks fdl fo'ks"k o"kZ ds fy, n'kkZ;k x;k gS bl xzkQ ls 

iz'u 60&64 rd ds mÙkj nhft,A

Q.60 The ratio of the total amount spent on Hockey to basketball is?

[ksy gkWdh ,oa ckWLdsVcky esa [kpsZ dk vuqikr gS\

1)  2:1 2) 1:1 3) 3:1 4) 4:1

Q.61 Graph shows most popular game as per amount is?

xzkQ ls [kpsZ ds fglkc ls lcls yksdfiz; [ksy gS\

1½ gkWdh 2½ fØdsV 3½ QqVcky 4½ xksYQ

Q.62 The ratio of the total amount spent on Cricket to tennis is?

fØdsV ,oa Vsful [ksyksa ds [kpsZ dk vuqikr gksxk\

1)  5:2 2) 2:5 3) 3:7 4) 7:3

Q.63 If the total amount spent on sports during that year is 1.5 crore. How much amount is 

spent on tennis?

;fn [ksyksa esa ml o"kZ dqy [kpkZ 1-5 djksM+ gS rks Vsful esa fdruk [kpZ gqvk\

1)  0.15 Crore 2) 0.1 Crore

3)  0.20 Crore 4) 0.25 Crore

1½ 0-15 djksM 2½ 0-1 djksM

3½ 0-20 djksM 4½ 0-25 djksM
M.A.T. ---11
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Q.64 How much is spent on cricket, football and basket ball?

fØdsV] QqVckWy ,oa ckLdsVckWy [ksyks esa fdruk izfr'kr [kpZ gqvk\

1)  50% 2) 40% 3) 30% 4) 70%

Q.65-69 In the following questions all squares except one are filled with number according to a 

particular scheme. Work out the scheme and pick up the numbers for the blank square(?) 

from the answer choices.

uhps fn, iz'uksa esa ¼65&69½ ,d oxZ dks NksM+dj lHkh oxksZa eas ,d fuf'pr fu;e ds vuqlkj la[;k Hkjh xbZ 

gS] mlh fu;e ds vuqlkj fn;s x;s fodYiksa ls [kkyh oxZ esa la[;k HkjksA

M.A.T. ---12

3

2

4

4

3

2

1

3

?

65.

35

40

45

30

5

10

?

20

15

66.

8

6

4

10

1

2

12

?

16

67.

64

81

100

49

4

9

36

?

16

68.

1) 2      2) 9      3) 8      4) 7

1) 30      2) 25      3) 35      4) 30

1) 16      2) 14      3) 12      4) 17

1) 20      2) 25      3) 28      4) 35



Q.70-74 Directions:- In this type, question codes may be given by skipping the letters-forward or 

backward by counting the place position of each letters and by giving codes of letters 

immediately below or above the other, keeping in mind the same pattern answer the 

following questions. 

uhps fn,s iz'uksa 70&74 esa dksM o.kZekyk v{kjksa ds fofHkUu iSVuZ ds vuqlkj tSls vkxs ,oa ihNs v{kj 

NksM+dj] o.kZekyk v{kj ds rqjUr igys ,oa ckn ds vuqlkj dksM  fn, gS] mlh iSVuZ dks /;ku esa j[krs gq, 

iz'u 70&74 ds mÙkj nhft,A 

Q.70 If ABODE is coded as EDOBA what would be the code for CAME?

;fn ABODE dk xqIr 'kCn EDOBA gS rks CAME dk xqIr 'kCn D;k gksxk\

1) EMCA 2) EMAE 3) MALE 4) EACM

Q.71 If STAND is coded as RSZMC what would be the code for WRITE?

;fn STAND dk xqIr 'kCn RSZMC gS rks WRITE dk xqIr 'kCn D;k gksxk\

1) DHSVQ 2) QVHSD 3) HVSDQ 4) VQHSD

Q.72 If book is coded 43 what should be the code of HATE?

;fn fdrkc dh xqIr la[;k 43 gS rks HATE  dh xqIr la[;k D;k gksxh\

1) 38 2) 32 3) 34 4) 37

Q.73 If DANCE is coded as 12345  what would be the code for END?

;fn DANCE dh xqIr la[;k 12345 gS rks END 'kCn dh xqIr la[;k D;k gksxh\

1) 432 2) 321 3) 135 4) 531

Q.74 If PEN is coded as ODM.  what would be the code for WET?

;fn PEN dk xqIr 'kCn ODM gS rks WET dk xqIr 'kCn D;k gksxk\

1) UFR 2) TFQ 3) VDS 4) SHP

M.A.T. ---13

35

28

21

?

7

14

49

56

63

69. 1) 42      2) 47      3) 49      4) 51



Q.75-80 Pick from each group of figures one which does not confirm to the pattern? 

uhps fn, fp=ksa esa og fp= crkvks tks iSVuZ ds vuqlkj ugha gS] vFkok vyx gSA 

M.A.T. ---14

Q.75

(1) (2) (3) (4)

Q.76

(1) (2) (3) (4)

Q.77

(1) (2) (3) (4)

Q.78

(1) (2) (3) (4)

Q.79

(1) (2) (3) (4)



Q.81-90 Study the following figures, there is question mark in the  figures. First three figures have 

same pattern, choose from given option most appropriate answer to complete the given 

pattern in question? 

uhps fn, fp=ksa esa ,d oxZ esa iz'uokpd fu'kku fn;k gS] fp=ksa esa dqN fu;e fn;k x;k gS] ml fu;e dks 

igpku dj] fn;s x;s fodYiksa esa ls mi;qDr mÙkj NkafV,A 

M.A.T. ---15

Q.80

(1) (2) (3) (4)

Q.81 Problem Figure

?

mÙkj fodYi  (Answer Figure)

(1) (2) (3) (4)

Q.82
?

mÙkj fodYi  (Answer Figure)

(1) (2) (3) (4)



M.A.T. ---16

Q.83

(1) (2) (3) (4)

mÙkj fodYi  (Answer Figure)

?

(1) (2) (3) (4)

Q.84

(1) (2) (3) (4)

mÙkj fodYi  (Answer Figure)

?

(1) (2) (3) (4)

Q.85

(1) (2) (3) (4)

mÙkj fodYi  (Answer Figure)

?

(1) (2) (3) (4)



M.A.T. ---17

Q.86

(1) (2) (3) (4)

mÙkj fodYi  (Answer Figure)

?

(1) (2) (3) (4)

Q.87

(1) (2) (3) (4)

mÙkj fodYi  (Answer Figure)

?

(1) (2) (3) (4)

Q.88

(1) (2) (3) (4)

mÙkj fodYi  (Answer Figure)

?

(1) (2) (3) (4)



M.A.T. ---18

Q.89

(1) (2) (3) (4)

mÙkj fodYi  (Answer Figure)

?

(1) (2) (3) (4)

Q.90

(1) (2) (3) (4)

mÙkj fodYi  (Answer Figure)

?

(1) (2) (3) (4)
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